BEAD GEXEF - BTT )

Sf5F8A |1 B
3th X % # wF A = U2} 7T

B 7 B o X 6,78 | 13,287 6,935 6,352

X B # K 1,181 2,851 1,395 1,456

£ P 1 K 548 1,408 706 702

N RO K q79 2,605 1,321 1,284

Bl &£ # X 7,047 | 4,944 7,308 7,636

N | KR b K 1,300 3,116 1,525 1,59 |

ik x M # K 1,046 2,464 1,220 1,244

it & & # K 7,915 18,595 8,894 9,701

BE o M o X 6,45 | 16,113 8,074 8,039

& = 33,248 75,383 37,378 38,005
2f5F8A 1 8

W X A& B T A& tH F A ] B8 "3

7 BHWE | BE7EETA 4,527 9,213 4,636 4,577
¥ F 172 323 |74 | 49

® B EH 453 854 432 422

£ L o H 744 1,323 833 490

g R H 307 525 288 237

% H] 578 1,049 572 477

o ORX 3 6,78 | 13,287 6,935 6,352

K B # K | £ B H 87 205 101 104
X & 8117 1,965 959 1,006

g % 143 355 173 182

£ K 18 #r € |34 326 162 | 64

A - S 1,181 2,85 1,395 1,456

k P # K ® B H |39 350 181 169
m fF 16 37 15 22

¥ @\ f 126 401 1 89 212

& & H 94 217 103 | 14

R A& HT 107 249 138 |11

K & 66 |54 80 74

e K 3 548 1,408 706 702

N R O X N R H] 177 407 208 199
BN R H | 42 385 194 19|

7 PR HT 35 8l 37 44

B R ¥ 464 1,310 673 637

g & 67 178 85 q3

2 BT 94 244 | 24 120

o K 3 q79 2,605 1,321 1,284
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BEAD GBXF - BT T35

Sf5F8A |1 B
i K % B/ T A& #HF B | A = B -8
Bl % i X Bl K 643 1,531 742 789
F9 & %7 B 8T | 2 2 0
A i HT 165 412 198 214
m v B 740 1,656 807 849
& % 6 q57 2,186 1,017 l,169
Bl % H 10| 392 |54 238
%= & 1,923 3,927 1,965 1,962
EZEE | TB 245 435 228 207
B 2TB8B 443 877 430 447
8 3 T8 490 804 402 402
8 4 TB 740 1,382 704 678
MW I 28 16 12
NGB OFE S HT 430 q15 453 462
FE EC & %7 E 0T 16 42 17 25
N wE o ET 142 355 173 182
o X 7,047 | 4,944 7,308 7,636
IR K3t B R AR ET 1,300 3,116 1,525 1,59 |
#H K3 1,300 3,116 1,525 1,59 |
it XX R i X & ¢ € 71 224 119 105
& ¢ ¥ @ ] 63 154 75 79
A Bk OE T 106 254 122 132
g @\ 62 | 46 74 72
it # H 73 195 a5 100
N OB 31 85 44 4|
® A 68 183 94 89
X 8§ f 6 16 7 q
e | TH g3 192 102 q0
EmNE2TAH ql 206 96 110
a3 TH 105 206 100 106
e 4 TH 135 306 |47 |59
maAES5TH 55 118 57 61
EraE6TH 87 179 88 ql
A - G- 1,046 2,464 1,220 |,244
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EEAD (X3 - BTT 5)
Sf5F8A |1 B
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 185 407 196 211
£EWL2TBH 194 449 210 239
£WL3TBH |74 390 200 190
£ 4 TBH 331 854 370 484
£WL5TAH 272 612 288 324
fFWL6TRH 288 689 348 341
£WL 7 T8 235 584 285 299
£WL 8 TBH 277 613 307 306
WmEITB 435 q27 428 499
WmwWE2TB 130 337 | 64 173
W¥E3ITBHE 235 524 269 255
WwWE 4 TB | 54 359 172 187
W¥ESTBH 247 566 273 293
WwW¥E6TRBH 264 612 282 330
NS T B 28 62 31 31
N2 T B 355 q13 452 46|
N3 T B 183 407 211 196
NS4 T B 56| 1,168 528 640
&1 TH 203 474 232 242
& 2T7TEH 235 576 274 302
T &3TH 140 331 | 74 157
& 4T7TH 265 685 326 359
T &5TEH 196 450 197 253
BARE | TH 197 496 24 | 255
BRE2TH 208 577 278 299
vHRE3ITHE 72 194 93 101
BARE4TH 208 460 216 244
BHRESTH 286 757 349 408
Afk& | TH 16| 404 202 202
A& 2TH 173 416 209 207
A& 3TH 347 813 404 409
AfR&4TH 676 1,489 685 804
# X E 7,915 18,595 8,894 9,701

3/4_—Y




BEAD GBXF - BT T35

Sf5F8A |1 B
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 167 793 535 258
BT E2TH |64 415 210 205
By aE3TH 205 476 243 233
o BE4TH 284 758 363 395
BT ES5TH 345 837 390 447
By R 6TH 327 qlé 464 452
By ETTBE 422 1,127 58| 546
W/ NI TE 288 720 334 386
W/ N2TH 233 576 278 298
W/ N3TH 370 982 470 512
W/ N4TH 309 792 383 409
W/ N5TH 281 718 359 359
wr e TH 532 1,134 568 566
WrE2TH 456 999 49| 508
wrE3TH 356 1,013 511 502
WwWrE4TH 322 542 273 269
B¥ | TB 278 721 365 356
B¥2TBH 454 1,038 530 508
BR3TAH 310 753 381 372
B¥ 4 T8 330 616 289 327
B | TH | 143 36 107
v B 3 TH |7 44 20 24
#H K3 6,45 | 16,113 8,074 8,039
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